EER=R—ETiEt Y& i (8

YRR B SMM4ESHA 198 (K)

[ Bk @ HE
TN T
| SiEER |MRE| F5 | ARE | @EAH) k= migg  |MAE| £S5 | BE | @HAH) &5
4 i3 3 797| 309,100 it i3 2 730| 807,400
B k3 4 828| 220,000 Rt i3 2 764| 827,200
Es k3 5| 1001| 480,700 s i3 2 775| 809,600
4 i3 6 751 283,800 it i3 2 824| 855,800
B k3 6 802[ 309,100 Rt i3 2 841 837,100
EES k3 6 880| 323,400 s i3 2 862 858,000
4 i3 8 757| 246,400 it i3 2 872| 859,100
R i 2 872| 859,100
RHF i3 2 916 860,200
@Fn4
A2 3 [1T]
migd |MRA| 5 | KAFE | @EAH) 5=
ik i3 6| 567| 806,300 [sFIE4E X BELTWIEBIIFTERISTY.
4 v 7 444| 435600 |WEIRS: X EREEERERTLTVET,
4 i3 13 439| 215,600
4 k3 14 670 462,000




